EARAROBREBRT —5 XN—ZXBISH—F

2021128128 (H) 6ER#4H

Bl -o>x3@t 2BI52 (B &E

BRI

[AE%] 1 7%&:11,000,000 §  2375:4,400,000 .~ 375:2,800,000 ™  43%&:1,700,000 H 5 3&:1,100,000 F

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o= C. Fh—0O :08. - . . BUHFR (FR)
1 9| TARS 4 3 S 1(@)4 2-2 33.9101.7| 2 (4_042) LRTE
R:O—RApFrO7 B:EAVIVUR /=Y ITr—1L
S Wy sy 8 3 | RAEE 1:08.6 7-8 33.21 9.9 | 3 122 |EHEE (&)
7 5| XA2aoYYY ¥¢53.0 A 1/4) (cay |HAAEFIE
RTIAYVTSvya BXL(YavPHEYy ) EERS
RSN o4 | HE 1:08.6 3-4 33.9] 99.5 | 1 186 | BEKAE (ER)
3 4 PAVSZ i) 57.0 N\F) o) Esz*) AFPIR=ILFA VTR
R:ITSvIILR B:IF7SHK—F ERBUS
S —3 ft 3 | BEEX 1:08.9 1-1 35.20 9.3 | 4 | 446 |AHE FR
41111 XA 3DI V7 54.0 (1172 *2) FAAEFEE
RUZIAVINT N B:0U—-XTT—)b B Fa
o__ - B o6 | EEHEI—ER 1:08.9 3-3 3431 96.0 | 12 | 490 |ERAIE ()
515/ E—RIZT7—R 57.0 “e) (-6) | AKREEF
R:OYV1ZI7r—R B:OIF1FY HEBUS
vy R — R 8 6 | ARER— 1:08.9 9-10 33.41 9.6 | 10 | 506 |MBAED (GRE)
6 3|y RD—F 5.0 (F9%) () | FElis
R:iod7x B:TSA49NWT—o TR
Do H— R # 3 | M FA—O 1:09.1 7-7 34.0| 94.1 | 5 | 412 |HEEZ E#)
71813 Y v AR 56.0 m i | B
Rib—tr5— BF—HAYF1— BERIY R
— . EREE : - atgF (EF)
8 ) |Z7O7 56 o 1(/(\)5;; 5-6 3410940 | M ig;} %é,ﬁ!u
RiIW—5—=yvF B:F49I5—h~ 799577 =LA
§ T 6 | MR 1:09.1 12-13  [33.3] 9%4.5| 7 508 | MBIRES (RR)
918|12| ¥ YRILIYY L= 70 5.0 1) () |EEER
RiNZ—ka1—X #:FVhNVO LAOD4ST7—1L
= . ~ e [GiligNp1 . = #H1T ER)
N B 4 | OB g [ e mdas] o | @ e
RiJ4 I RD—ILEY B:IFY [ e
Q = it 6 | BEMEN 1:09.7 1211 [33.9|87.7 | 8 450 | EEE (ER)
M5 7| AXATTSU— 55.0 3) (g |FHBX
RIZAANTTZWwIR B:RAZXNT+A Pu e ]
o — s 5 | #MLUEAE 1:10.3 1M-11 | 34.5)81.1 | 9 | 492 |2LEA ER)
12/7|10| TEO—7" [B] 55.0 312 o) |EEER
RN—EVIr— 8- FIET7—L4
~ 4 3 | BEHE 1:11.1 9-9 35.7]73.9 | 13 | 448 |EHUF (RN
13{7| 11| 7 ATV LAX 54.0 ©) (e | THH—EB
RiI7rEYRX B:AA— TS5—Y §1H #&/=X
[ BN
Eh' 45.5-34.7
NOYSA L | 12.2-10.7-10.8-11.3-11.4-12.0
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 1-9(4,6) (2,8) (5,13) (3,11)10(12,7)
43—F— 1-9,6(4,8)2,13,5,11,3(10,7)12
o ILRE
B B 9 480M4 JA R 5-9 630M4 & 4-6 3304 3EE 4-5-9 1,280M
g B 9 170 4-9 290 5 & 5-9 1,770H 3EH 9-5-4 8,610
5 160M 4-5 280M =51 9-5 3,060
4 110

ABIC OV TRUTEREERRODDZE. THRIIZEL.




